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B. Com. (Par_t._-l) Examination, 2017
(Group-B) Sixth Paper
(Business Mathematics)

Note :- Answer five question in all. Short answer type Question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each Unit.

1. PrefoRea oy sada st & IR AR 4x10=40
Answer the following short answer questions-
(i) URad g vd I aregg o uRwifvd Sl
Define transpose matrix and symmetric matrix.

i) F=faRed arfve & 99 s1a ifsw

Find the value of the determinant :
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the value of AB. Is AB = BA?

(iv) oISt & 9FF & 3R aralds (a1 g9mE) & 319 397 999
g? | _
What do you understand by the nominal rate and actual (or
effective) rate of interest?

(v) 5 o= o1 8% aife amels o & & ¥ R 9 T ThgiG
5 ¥ 2l Tged & IS §aee]
Compound interest of a sum of money at 8% for second vear
is. Rs. 54. Find the interest for first year.
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(vi)

(vii)

(viii)

(ix)

(x)
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HTETRUT 0T 7T RA=R & Geutew R wfda ol ffae
Write a short note on 'Valuation of simple loans and
debentures'.

1 112 5 d )
ax y=—+x7 -2 @ L o uF F S
X e dx
If y= l, + %" ——%—.ﬁndi}i
X- e dx
&'z &’z
afE z = §HY-10. A @ — TN 7 Fd diisel
OX ay’
&’z &’z

If z = 8x*+4y*-10, Then find ¥ and _a'y_z
5t LPP & sreendt 89 & For o 29

Write the conditions of degeneracy in an LPP.

<afera @ SRigRE T wE @ aRufYE SifTel

Define balanced and unbalanced transportation problem.
Unit-I (3573-7I)

. 3T 37T, @grarm@ aif 3NEE, %ﬁmmﬁgﬁuwaﬂ

uﬁmﬁaa’sﬁﬁmuﬁ

X 3x-y| |3 2
2X+2zZ 3y-W 147

2l X v. z, wd AF I Bl

Define Horizontal matrix. Vertical matrix. Square matrix, Diagonal

matrix and Triangular matrix. If

X 3x-y | |3 2
2x+z 3y-w| |4 7

Find X, ¥, Z, W. Or

fr=r 3eg @1 Wioam e -

Compute the inverse of the matrix :

A =
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I 2 1
I -1 1
2 3 -1
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Unit-11 (3&75-f3c1T)

. 6 IPH R ol 18 3R HHe: 1,308 F. 3R 1,320 ®. & A af¥s

foeell % 4TI S 7| Thgie ST 10% alfifes et & ¥ el et
IPH YR B T AP 15

A sum of money was borrowed and paid back in two annual instalments

of Rs. 1,308 and Rs. 1,320 respectively. The rate of.compound interest
was 10% per annum. What sum was borrowed? Or

. 5% TR0 15 @& =X ¥ 4,620 =, saéﬁaqaraﬂ#éaﬁmﬁmﬁr

Eﬁﬁﬁﬁﬂ@ﬁ'{ﬁ? 15

What annual instalment will discharge a debt of Rs. 4,620 due in 5 years
at 5% simple interest?

Unit-TII (sTE-gefta)

—x(3;|-x2)
Lafg Y= \f— dr ewrige 1:85 dx T+ 135
y= 1-x* _ dy  —x@3+x%)
If m then show that dx (-l N Xz)yz
. {9 $7d HIfe : | 15
Evaluate :
{4 2
X £3x +ﬂ
o | J o
cAX +7
i dx
) 15513
Unit-1V (3575-ag%)
. Fr=foaa s & faveas faftr g/ & f&fEw 15

Solve the following problem by simplex method :
Max z = 5x, + 3x,
such that

3x|+5x35 15

5x,+2x.,<10

X X, 2 0 Or
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9. F=feRaa aamoa aaw & & St

Solve the following transportation problem :

W W, W, Supply

F, 2 2 2
F, 3 3.1 3
F, 5 5 5
F, 1 1 1
7 9 18
Demand
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